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QUESTION 1

Select the Exhibit tab. 

The exhibit illustrates the network cabling of a 4-node HA cluster that includes four separate networks. Which two
definitions are correct in this scenario? (Choose two.) 

A. Each node must be connected to five distinct networks. 

B. A cluster can be created without data network connections, but it must include a cluster interconnect connection. 

C. Each node may be connected to the management and cluster networks only. 

D. A cluster cannot be created without data network connections, but it must include a cluster interconnect connection. 

Correct Answer: BD 

 

QUESTION 2

You finished a new installation and executed Config Advisor successfully. You review the physical racking and cabling
on one of the controllers, and notice an amber light that was not previously on. 

Which two actions should you perform before you turn over the cluster for production? (Choose two.) 

A. Remove cables connected to the controller until you find the one responsible for the controller issue. 

B. Review AutoSupport messages which could explain the controller state. 

C. Execute Config Advisor again to check for new errors. 

D. Let the customer know the cluster is operating normally while the amber LED is on. 

Correct Answer: AC 
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QUESTION 3

You have a 4-node FAS8060 cluster. You are using the vol move command to relocate a volume from an aggregate on
node 1 to an aggregate on node 4. 

In this scenario, which network is used for the traffic being relocated? 

A. the node management network 

B. the HA interconnect 

C. the intercluster network 

D. the cluster interconnect 

Correct Answer: D 

 

QUESTION 4

You are adding two new nodes to an existing switchless 2-node cluster. 

In this scenario, which two statements are true? (Choose two.) 

A. You must make sure that the existing nodes are healthy and that all cluster links are up. 

B. You need to schedule downtime to add these two nodes. 

C. The existing cluster must use clustered Data ONTAP 8.1 or later software. 

D. You first need to install the cluster interconnect switches to the existing cluster. 

Correct Answer: AD 

 

QUESTION 5

In which scenario must ACP be out-of-band? 

A. when using DS4243 shelves with SATA drives and I0M6 modules 

B. when using DS4243 shelves with SATA drives and IOM3 modules 

C. when using DS4243 shelves with SSD devices and IOM12 modules 

D. when using DS212C shelves with SSD devices and IOM12 modules 

Correct Answer: D 
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